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Sem Il - G1PC201T - Finite Element Analysis

General Instructions
Answer to the specific question asked
Draw neat, labelled diagrams wherever necessary
Approved data hand books are allowed subject to verification by the Invigilator

Name the applications of Rayleigh Ritz method. K1 (2)
Explain Plane strain rectangular element. K2 (4)
Derive the deflection at the centre of the simply supported beam K2 (6)

subjected to Point load at the centre. Use Weighted Residual method.
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Consider the bar shown in the figure. Prove the displacement given K3 (9)
along with the figure
Consider the rod shown in Fig. where the strain at any point x is givenas

g,= 1 +2x°. Find the tip displacement
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5  Evaluate the shape functions N1, N2 and N3 at the interior point P for
the triangular element shown in following figure:
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6)  Find the deflection at the centre using Rayleigh Ritz method for the
simply supported beam subjected to Concentrated load at the centre
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) Derive the stiffness matrix for truss element and prove the following:
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8) Determine the expression for maximum deflection of a cantilever
beam subjected to uniformly distributed load w/m. Use Rayleigh Ritz
Y = [1 — (__T(J.'i”—:i.:|

method taking the deflection function as follows: 21
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9  For the beam and loading shown in following figure, determine the K5 (15)
slopes at 2 and 3 . Also find the vertical deflection at the midpoint of
the distributed load.
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10)  Calculate the displacement at node 2 of the tapered bar, taking Area K6 (18)
at 1 as A1 and area at 2 as A2




